. Linear Programming _Qontinu_ed-

Name .

“1. A company makes two kinds of tires; model R (regular) and modei S (snow). Each tire is
processed on three machines, A, B and D. To make one model R requires ¥z hour on machine A, 2
ours on B, and 1 hour on C: To make one model S requires 1 hour on A, 1 houir on B, and 4 hours
on C. During the next week machine A will he avaltable for at most 20 hours machine B for at most
60 hours, and machine C for at most 60 hours. Ifthe’ company makes a.$10 profit on each model R

tire and a $15 profit on each model S tire, about how many of each tlre should be made to max:mlze

~ the company s profit?
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’ 0? ~ Which two of the following could be féasi—
. ble regions in a

&,

linear-programming situa-

N
H

3 A system of inequalities was graphed as -
-shown below. Are the coordinates
listed below possible. solutions to the sys-
" tem? Justify your answers.
oA (3,2) 9'35 ‘
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Where in a feasible set are the p_oSsibIé so-
lutions 1o a linear-programming problem?’
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